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16P/207/8
No. of Questions /i # wiwar : 150
Time (A% : 2 Hours /a2 Full Marks/qurfs : 450

Note : (1} Attempt as many questions as you can. Each question carries 3 marks,

(2) If more than one alternative answers

aﬁ@ﬁm%ﬁﬂﬂm%ﬁm.mﬁ,mﬁwmm

gl
1. Which among the following planets is smaller in sjze than the Earth?
(1) Saturn (2) Jupiter (3) Neptune (4) Venus
ﬁqﬁﬁaﬁa—muﬁwﬁqﬁﬁ@a%?
(1) wf () geerfy (3) @ 4)
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2. Which among the following planets is the second largest one in the solar

system?

(1) Mercury (2) Earth (3) Saturn (4) Uranus
fm § @ FH-w e Sevea w1 U T 9 UE R

(1) 39 (2) gt (3) ¥ (4) I

3. Which imaginary line is located at zero degree latitude divides the Earth into

northern and southern hemisphere?

(1) Equator (2) Meridian

(3) Tropic of Cancer (4) Tropic of Capricorn

7 foft s w A Fedts geft ®1 ah @ g e i =t
27

(1) fagaq @ (2) TR - (3) Fh @ (4) Ha @

4. Ozone holes are more pronounced at

(1) Equator (2) Tropic of Cancgr

(3) Tropic of Capricorn (4) Poles
s fop, <@ WL @ E
(1) Frge T F IR @) ¥ 1@ F I
[3):@(%@1%3« (4) g8l |
5. Which of the following is not associated with yolcanism?
(1) Oxbow Lake (2) Dyke (3) Crater (4) Batholith
2
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= & @ s same fhar @ wafm T 27

(1) TgEE  (2) wWE @) $ (4) Senfere
The mass of water vapour per unit volume of air is known as

(1) relative humidity (2) specific humidity

(3) absolute humidity (4) variable humidity

SR v Oy e § e S @ o R e
(1) sl amgm  (2) faftne adan (3) P @ (4) wRadia s

The hottest planet is

(1) Mercury (2) Venus (3) Jupiter (4) Saturn
vl T 7R R

(1) 39 @ T 3) Tewf @) wf
Residual hill in the desert region is known as

(1) Peneplain (2) Inselberg (3) Playa - (4) Stalactite
Toaela & § oRiE e W e &

(1) ¥ @ Raw (@) ) R

Which of the following represents a process of chemicg] Weathering?

(1) Thermal expansion and contraction
(2) Mass exfoliation
(3) Hydration

(4) Frost action

P.T.0)
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fim § @ F9-T TEERE SuEd F R H o @7

(1) o TR UH HEeH (2) &G AR
(3) SeENA (4) gE e

10. The most ideal condition for chemical weathering is found in
(1) cold and dry region (2) hot and humid region
(3} hot and dry region | (4) cold and humid region
T e % e s fef W o @
(1) M @ F T A (2) I @ G TN A
(3) I @ T %W H @) Tha @ g W A

11. Instrument used for recording intensity of earthquake is known as

(1) Barograph (2) Hydrograph (3 Pantograph  (4) Seismograph

Sp—— R oIS T

(1) ST (2) ETERIATH (3) = (@) dreiT
12. Which factors influence ocean currents?
(A) Earth’s rotation

(B) Winds across the ocean

(€)
(D) Convection currents

Density of the ocean water

(2) (B), (C) and (D)

) (@), B and (€
@ (A), (B), (C) and (D)

@) (), B4 D)
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F-8 HH TR qe B v @ 87
(A) et =1 i
(B) 993 % IR yR i ga
(C) THg 91 #1 T

(D) Heg-fta amrd
(1) (A), (B) @ (C) (2) (B), (C) @ (D)
(3) (&), B) @ (D) (4) (A), (B), (C) @ (D)

Which of the following influence the oceanic salinity?
(1) Land (2) Wind
(3) River water (4) Ash from volcanoes

ﬁwﬁ#aﬁwwwrﬂa-maﬂmnﬁam%?
(1) T (2) & 3) & 5= (4) e e

In which of the followin

g oceans, the direction of oceanic current i1s reversed
with season?

(1) Pacific Ocean (2) Atlantic Qcean
(3) Indian Ocean (4) Arctic Ocean
ﬁnﬁﬂmmﬁmmammwﬁ%mmmp
(1) o< wg@rR (2) seAifes wRmm
O R O op—

5
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15. Which of the following represents age of the Earth?

(1) 46 million years (2) 46 billion years
(3) 137 billion years (4) 20 billion years
frr § ¥ F9-mr geht A g F g 27
(1) 46 fafemm =d (2) 4-6 TR =¥
(3) 137 fafemm = (4) 20 fafera =d
16. Which of the following heavenly bodies have been excluded from the list of
planets?
(1) Uranus (2) Neptune (3) Pluto (4) Mars

ﬁﬂﬁéﬁamﬁsﬁaﬁﬁ{qﬁﬁmmﬁmm%?
(1) 3 (2) T (3) =& (4) W

17. Which of the following represents the inner planets?

(1) Planets between the Sun and the belt of Asteroids
(2) Plancts between the Earth and the Neptune
(3) Planets in the gaseous state
(4) Planets without satellites
frm § R ot TR FA-E LI
(2) 3= aﬂiaﬁmﬁ%ﬁﬂwﬁ-’{a@uﬂ
() fo e T T8

(180)
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20.
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Who among the following was the first to consider the possibility of Europe,
Africa and America having been located side by side?
(1) Alfred Wegener | (2) Arthur Holmes
(3) Edmund Hess (4) Abraham Ortelius
frg § @ e wdmm U, wh R R ¥ W fRE W R EWET o
67 |
1) FFHT AR (2) IR T (3) TEHS T (4) ¥§TEH SARefaE
Finger lakes are commonly formed by the action of
(1) rivers (2) waves (3) glaciers (4) wind
fer a1 fuin gmmen e g fffa g 27
(1) 7 (2) 8) fere (4) T
The concept of normal cycle of erosion was propounded by
(1) Albert Penck | (2) W. M. Davis
(3) Charles Darwin (4) A. N. Strahler
A A W% I srauron e ga & 2
(1) s I (2) Tqo Wo 3fdm
(3) I A (4) To Wo TR
Block mountains are formed by
(1) folding (2) faulting
(3) volcanic action (4) denudatigp
7
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AT+ qdd frad amar 7
(1) FoF (2) ¥¥F (3) ST R (4) SHTESIE

22. Most of the weather phenomena is observed in
(1) Troposphere (2) Stratosphere (3) Ionosphere (4) Mesosphere

(1) gz & (2) TEaW Fead d Cn A AEA ¥ (4) HeANEd

23. Relative humidity refers to the
(1) amount of water vapour present in the atmosphere

(2) ratio between the quantity of water vapour present and the maximum
quantity that the atmosphere can hold at a given temperature

(3) ratio between the quantity of water vapour and oxygen present in the
atmosphere at given time

(4) ratio between the quantity of ice and water in the river

i g Gt @

(na'rg:iwﬁwfiaﬂwwﬁﬂmaﬁ

(2) argres § IR ST B A qu e e g F B g &
T

(Slwﬁqmﬁm@wﬁw@a_wﬁwammﬁm%
U H

@) 7@ e ol T TF & UM R

8
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Which of t.he following belts refer to doldrums?
(1) Calm near the Equator (2) High pressure
(3) Low rainfall (4} Moderate humidity

TAgE e d A o v B owy §7
(1) fagsa-tar ¥ ww #1 wig a3 (2) 3= =
(3) f= auf ' (4) W9 ayda

Convectional rain is Very common in

(1) Equatorial region (2) Monsoon region

(3) Coastal region (4) Coniferous forest region
saE awl agd & w2

(1) Tgad s 3 (2) "FEA TR &

(3) ¥ wew o (4) ol I g2y F

The average salinity of the ocean water is

(1) 20 em/kg  (2) 30 gm/kg  (3) 35 gm/kg (4) 45 gm/kg
A @ R adww wque B 8

(1) 20 7m/fRm (2) 30 wm/fem (3) 35 wm/fegr  (4) 45 T /R

Which of the following seas has maximum salinity?

(1) Dead Sea (2) Baltic Sea (3) Red Sea (4) Whit S
: : € Sea

P.To,
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ﬁmﬁﬁﬁmmaﬁwmmﬁ?ﬁ%?
(1) 73 ¥ (0) Mfeess TR (3) T A (4) TH TR

28. Which of the following is the warm ocean current?

(1) Gulf stream (2) Humboldt current

(3) Benguela current (4) Peruvian current

A § @ P-4t 3o wgd a0 87
(1) e &m ) TR U (3) A g (4) T® o

29. Which of the following is a cold current?

(1) North equatorial current (2) Brazilian current
(3) Kuroshio current (4) Labrador current
A & & Fe-d 39 ST R

(1) 3o fagada ar/@ (2) STSffeRA €1

(3) TR T (4) SsrER 9w

30. On a globe, lines of latitudes are

(1) semicircles of equal length (2) circles of same radii

(3) circles with varying centres (4) straight lines
i # A an ®
mwﬂ_aﬁrﬁﬁ?ﬁﬁ | (z)ﬁﬂﬁww@%mq-ﬂ
(S\ﬁﬁ_ﬁ;a%a'@@am?ﬁ (@) W@ YE
10
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31. The RF of four maps is given below. Which of these have the smallest scale?
R AARE F Fofio f19 Ry 1 & P F A frmw ww TR B 27
(1) 1:25000 (2) 1:40000 (3) 1:60000 (4) 1:100000

32. Scale of a map refers to
(1) size of the map
(2) size of the area represented
(3] ratio between distance on the map and distance on the ground

(4) ratio between different maps of the same area
et s =t oo qtar 2

(1) aFfaT &1 3R

(2) FfT Mg g5 F R

(S)Wﬁiwﬁz@aqhwam?ﬁajwam
(4) @ & &% & Aftm ARl % @ @ sEEE

33. The equatorial diameter of the Earth i
(1) larger than the polar diameter
(2) equal to the polar diameter
(3) smaller than the polar diameter
(4) cqual to twice the polar diameter

(180) 11
(PTo,)
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'gedft w1 fogada =

(1) gdra =@ @ I 2

(2) g =T\ F TR R

(3) gefts = @ #9 ®

(4) v =@ F g F TR

34. The longitude determining Indian Standard Time passes through

(1) Chennai (2) Allahabad  (3) Delhi (4) Mumbai
T T T S Qi w9 ael SRR @1 e R
(1) ¥9% & () FrRERd @) & (4) T=% @

35. A great circle is

(1) a very long circle bounding the whole Earth
(2) the polar circle of the Earth

(3) a circle representing the orbit of the Earth

(4) a circle which bisect the Earth into equal parts -
@ 9% 70 ¢

(1) w9 H g g Th §ga S 9

(2) gt H gd@ gd
‘4\@qﬂgﬁqsﬁaﬁ€tmmﬁﬁm‘%

12
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36. The shortest distance between any two places on the Earth is measured

37.

38.

(180)

(1) along the great circle route (2) along the meridian
(3) along the latitude (4) along the equator
7 W R Qe ¥ e B o o R

(1) 3% 39 =i & == (2) TR ¥ W

(3) Y F \ER (4) fogaq 1 % @=r

What is the basic purpose of drawing diagonal scales?

(1) Reading fractional distance accurately

(2) Estimating approximate distance only

(3) Showing distance in miles and kilometres simultancouslyl

(4) Showing distance without using any unit

fol A o s 2

(1) P g+ ygm @ ved % fn

(2) 39 srpmha g I ¥ R

(3) T e i et § 8 R %
(4)%%@%%{8%@%%%

What is indicated by Spacing of contour lines?

(1) Slope’s direction (2) Slope’s degree

(3) Landuse (4) Relief features

13
(PT0,
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= T o @ w quian W g7
(1) o #t B () 7= = W (3) sf Iwm (4) aUaela @

39. The ruggedness of skyline is shown in

(1) composite profile (2) projected profile
(3) superimposed profile (4) serial profile
fifsr % Jan-=g@ ® WA @

(1) faftm wf=dfem @ (2) vafe TR=dfew 3
(3) st whdfeam & (4) aoft afdfem @

40. The scale of a map is 1 cm = 2:5 km. Its RF will be

fdt gmfaa =1 9 1 cm = 25 km | 3@ Yofo &M
(1) 1:250 (2) 1:2500 (3) 1:25000 (4) 1:250000

41. If the address of a toposheet is 53 I% Its RF will be
uﬁﬁ@mﬁﬁﬁmﬁﬁmmsai‘%%wgoﬁo qm

(1) 1:20000 (2) 1:50000 (3) 1:125000 (4) 1:250000

e steepest gradient among the following

42. Find out th
ﬁqﬁgﬁaﬁmmm#ﬂ?

(1) 1 50 (2) 1:100 (3) 1:500 (4) 1:1000

(180) 14
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Pressure condition on a map can be shown with the help of
(1) Isobars (2) Isohytes (3) Isotherms (4) Isonephs

S8 WRRE W o9 £ R @ ol ¥ Rie fE d d 9 @ @ weam fam S
27 -

(1) AZE=E (2) AEEIBEE (3) gated (4) AREHT
The bearing of 200° can be converted to reduced bearing as

2000 ¥ fog @ wwfi R # whaffa e o1 @ R

(1) S 70° E (2) S 70° W (3) S 20°E (4) S 20° W

When two or more contour lines meet at a place, the slope of the land will be

(1) steep (2) gentle (3) uniform (4) vertical

@ A W fw T Wl @ WE W fed § @ oot o am
(1) ot (2) 3 W (4) St

Mercator’s projection is used mainly for

(1) distribution map (2) astronomical map

(3) polar area map (4) navigation map

AR VEY WO 9T €9 § gy d

(1) foe wwf o (@) el w3

@) ol & TR () A FEew TRy
15
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47.

48.

49,

50.

51.

(180)

The Survey of India was established in the year

¥ A e f v frw ad g o

(1) 1867 (2) 1767 (3) 1967 - (4) 1947

In prismatic compass survey bearings are measured with reference to

(1) geographic north (2) grid north

(3) magnetic north (4) assumed north

Prefra s w3 3 R 6w B § Qs aed § 27
(1) Wmifers 3 (2) fire 3= (3) I=HIT IR (4) Hfedd IW

Mt. Etna, an active volcano, is located in

(1) laly (2) France (3) Egypt (4) Dubai
TR T, T Aiwa senge, R R
(1) seeit d 2) w@d (3) firm # (4) g7 3

A diagram showing average monthly temperature and rainfall conditions at a
particular station is known as

(1) Hytlusrgrﬂi.f"‘1 (2) Climograph  (3) Thermograph (4) Barograph
Rt DR W 3hEd WReE amE o A f R F T T oMW F FEd B
(2) FATEHIITE (3) 4TS (4) STUTH

(1) BIUTTS
Who among the following COinea the term Geography?
(1) Herodotus (2) G:;.lil‘;o
(3) Eratosthenes (4) Aristotle
16
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Which of the following questions is related to the cause-effect relationship?

(1) Why (2) What " (3) Where (4) When
= d 3 aﬁq—aTsmq'mnw>aw&'aﬁFH q wafyg 27 _
(1) =t (2} =n (3) wgf (4) #9

Equatorial region s characteriged by rainfall

[ 1) throughout the year (2) mainly in Summe;
(3) mainly in Winter (4) mainly ip Autumn
T R A Ayaen wy * oy g 2
(1) wrER (2) gega: mff 5
) gemm: a2 § () Fem: rrery
Mediterranean region receives rainfall
(1) throughout the year . (2) mainly in Summer
(3) mainly in Winter (4) Mmainly jp Spring |
TIP3 & ant g |
(1) HrehR (2) gower: T
) J&a: W & ) G T 3

17
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55. Distribution of human population ijs highly uneven mainly because
(1) large areas are mountainous
(2) large arcas arc extensive deserts
(3) there are dense forests
(4) only certain regions are favour'able for human habitation

W?ﬂ«é@n&iaﬁqﬁﬁmﬂmmg@mg
1) & & F T T
maé.ﬁiﬂwwﬁm

3) T B FH |
(4yaaaa§samaaﬁqﬂaﬁam%aqw%

56. Population pyramid is 2 diagram which represents

(2) age- and sex composition

(3) urban and rural composition “4) occupational structure
e fafie T g 2 S g 3
(1) s e T o) v @ fem FE
(3) *E @ PILiL IS (4) I HT
g7. Shifting cultivation is also known as Jhooming in
(1) North-Easters India () Southern India

(3) Central ndia (4) Gangetic Plain

18
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Wl FN R g F am ¥ I s 2
(1) SM-gd 9ra & (2) afémfly v &
(3) 7eT WRE i (4) T F Aew F

58. Most of the corn produced in USA is
(1) directly consumed as grain
{2} used as animal feed
(3) used for preparing cornflakes, corn syrup, etc.
(4) used for manufacturing industrial products
W Tou St § R st da
(1) ¥9gq: G & & F 3w dar 3
(2) 53 F IR & 9 § 3w gy 2
(3) ?ﬁqﬁm,mﬁﬁmmﬁ%mm%
(4) MNF I fafmtn % wm 3T R

S9. Which of the following is not a resource creating factor?

(I) Man (2) Nature (3) Culture {(4) Settlement

ﬁnﬁammﬁmmaﬁg?
(1) s (2) wHfa (3) F=pla (4) Teh

60. For which country, this statement seems to be truep

“Resourcelessness is the greatest resource ™

(1) China (2) Japan (3) India (4) Usa

(180) 19
P.T.0,



16P/207/8

61.

62.

fra 2m % g # T Fo wdl A A 27
Wuﬁ@wma@w%ln
(1) PIELL (3) s (4) FoThHoTo

Which of the following is not an approach to study Economic Geography?
(1} Commodity Approach (2) Regional Approach

(3) Principle Approach (4) Biophysical Approach

fm & A-m s e @ oA 1 S T 27

(1) I% 9™ (2) &t 3mm (3) frgra IavP™ (4) -t I

The concept of locational triangle was given by

(1) Alfred Weber  (2) D- M. Smith (3) C. D. Harris (%) Ww. Christaller

e B ) sremon @ T

(1) oEHS IR F G ' 2) Do wWo T & T
(3)@ﬁa:=.ﬁo%ﬁ8%m (4) e TR F g

63. The ideal location for an iron and steel industry 1s

(1) near the coalfield
(2) near the iron ore

(3) near the market

(4) a place where Taw materials are available at minimum transportation cost

20
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ﬁ%@maﬁwaﬁw%%ﬁmﬂ@rﬁ%

(1) TR F Fods |

(2) R T F T

(3) IR F Tt
M@anmaﬁaﬁmawwhasqwmmﬁ

The first Arab Geographer to give an account of the periodic wind was

(1) Al Masudi (2) Ibne Hawkal (3) Ibne Yunus (4) Al Idris

(1) & wgd) (2) 3= wwar (8) ¥ W 4) 3 zefdh

Identify the geographer on the basis of given facts -
(8) He was a great geographer of 17th century.
(b} He lived in Netherland.

(c) He died at the age of 28'years.
This geographer was
(1) Emmanuel Kant (2) Varenius
(3) Humboldt (4) Blache

A WWWW@WW:
(@ 3 174 % & W TR st o
(b) 3 Fetete & 13 4
() 37t 7y 28 ¢ Y sraean & o)
3 e o
(1) ¥ =% (2) Rfigg 3) ‘Ttz

21
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66. Influences of Geographic Environment was written by
(1) P. M. Roxby (2) Carl O. Sauer (3) Dudley Stamp (4) E. C. Semple
Influences of Geographic Environment fo@n T
(1) flo THo Tamell & G (2) F1E 3o T F T
(3) TA W & g (@) $o Fo AT F T

67. Whose statement is this?

« The role of man is like a traffic controller.”

(1) Griffith Taylor ' (2) A. J. Herbertson

(3) 0. H. K. Spalte (4) George Tathom

7z e F9A 27
“mﬁsﬁm@mﬁmaﬁm‘%u”

(1) fifea T (2) To o T

(3) 3o THo Fo T (4) St 2o

68. Who among the following is not & determinist?

(1) Humboldt (2) Ritter (3) E. C. Semple (4) Blache

ﬁﬂﬁﬁﬂ?ﬁaﬁaﬂwﬁ%?
g @

rween the concept of deter

(3) 3o Ho FoE (4) A

69. Middle path be minism and pOSSibilism is
(1) Neo-determinism (2) Probabilism
(3) Dualism (4) Pragmatism

22
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ﬁwﬁamaﬂtéﬁaam%ﬁamw(mnqﬁ)%

(1) =-Fafare (2) dweEm (3) B (4) SR
Which of the following events did not happen in 1859 o

(1) Death of Humboldt (2) Death of Ritter

(3) Publication of Origin of Species  (4) Birth of Blache

= & 3 st o 1859 $o & 7 wd?

(1) Teilee i ey 2) fz i 7
(3)‘aﬁﬁ%ﬂaﬁmﬁ1ﬂa’ww (4) a9 =] 5=

Whose statement is thig?

“Present is the key to the pagt.”

(1) C. M. King _ (2) W. M. Dayisg
(3) James Hutton (4) W. Penck
T lam w27

‘TR ol oM 21
(1) Ho w0 fim (2) =0 wo fyg
(3) 9 &g 4) S0 =
Morphology of Landscape ig written by
(1) Carl O. Sauer (2) E. Huﬁtington
(3) Patrick Geddes (4) W. Christajje,

23

(P.T.0,)



16P/207/8

Morphology of Landscape F wafyar @

(1) FE o AR (2) fo ¥ @) iw AdEm () Th B

73. “Geography as the study of Human Ecology” the concept was propounded by
(1) H. H. Barrows (2) W. Bunge
(4) P. James

(3) H. J. Mackinder
“riter wa TR % e ¥ ®9 7 s fon

(1) THo o A F T (2) T it F T
tﬁ)@oéoﬁ%m%m (@) e @ F g

74. The Winter gnow-house of Eskimo is known as

(1) Toupik (2) Igloo (3) Yurt (4) Sledge
e % S femTe 1 FEA T
(1) afre (2) T, (3) I (4) &I

75, Semangs arc the primitive group of people living in

(1)

Central Africa (2) Borneo
(4) Andaman lslands

(3) Brazil
mma@ﬂﬁ (2) T (3) ¥ A (4]31"6'W%‘m’1§ﬁ
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Transhumance is mainly carried out by people living in

(1) Polar region (2) Taiga region
(3) Tropical region (4} Mountainous region
wgyEE = d d el & @vll & g e S 7

(1) g & (2) M &

(3) 3 wieady & (4) TEdE &

The total population of an area divided by cropped area is referred as
(1) agricultural density (2). nutritional density

(3) arithmetic density (4) population density

el B R B9 o W TN 87 ¥ ARE B W T e 2
(1) FN T7a (2) W WS (3) i e (4) FEn e

In which of the following countries, two-third of the population is concentrated
in six of its major cities?

(1) Myanmar (2) Spain o (3} Argentina (4) Australia
ﬁnﬁﬁﬁméﬂﬁa’l—ﬁmﬁmaﬁ%@:wmﬁmﬁg?
(1) =R (2) | @) WA (4 sk

The high density of population in West European counties s mainly due to ope

of these reasons
(1) improved agriculture (2) fishing
(3) dense forest : (4) industrialisation

25
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80.

81.

82.

ofedft dla 39§ SeeEn w1 39 uee geda: e 6 8 el oh % s R
(1) 39 F (2) HSAIEH (3) T = (4) SR

The most densely populated regiohs of Canada is

(1) Prairie Province (2) Maritime Province

(3) St. Lawrence Lowlands (4) Interior Lowlands

FAGT 1 gad HA1 991 &9

(1) = W= (2) Afedw w=

(3) "z atg K fract I (4) e Feeh @

The number of children dying in their first year per thousand live birth is called
(1) death rate (2) standardised mortality rate

(3) infant mortality rate (4) life expectancy rate

% ged 96§ T @ @i B wEn WO P T L
(1) 99 € @) T T R (3) g o (4) e e

Developed countries of the world are suffering from some population problem.

Most important among them are
(1) ageing problem (2) malnutrition
(3) unemployment (4) lack of basic amenities

fr % ol <@ 75 e T § 9@ ® 8 R W R

(S)W (4]W§ﬁmaﬁwm
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Demographic Transition Theory shows that the main determinant of population
growth is the nature of balance between

(1) immigration and emigration (2) fecundity and fertility

(3) fertility and migration (4) fertility and mortality

T G R w3 B ween g % 0w wO W A ¥ de S
Tger f THld T

(1) SIEET T IeErE (2) SR TS SEEER

(3) TSR T S (4) SoFWEl T Hedar

Which type of economic activity is fishing?

{1} Primary (2) Secondary (3) Tertiary (4} Quinary
Tt fhg @@ ) onffe frm 27

(1) I (2) fehas (3) FeAI® (4) 9@

Conservation of natural resource aims at one of the following
(1) complete ban on the use of natural resources
(2) partial restriction on the use of natural resources
(3) rational use of natural resources
(4) profitable use of natural resources
TIHh TR F W0 W R e A d w2
(1) TFf® 9T F @ w o sy
(2) HicH FEEH F I W i fEE
(@) gl w1 fdwp! s
(4) THfaF dEeT F1 TEE Igy
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86.

87.

88.

89.

Mesabi range in USA is known for

(1) iron ore (2) coal (3) petroleum (4) bauxite

T T it § dae T 9w s 2

(1) g @ & fou (2) P ¥ forg

(3) ugiferm & fow (4) afaEe % faQ

The most favourable condition for generating hydel power is in

(1) Nepal (2) Congo Basin (3) Switzerland (4) Canada
el I % foe waifs ogge wRfefd @

(1) Y o (2) = afm § (3) fEgEwle ° (4) =Tel H
Chuquicamata in Chile is famous for

(1) copper (2) salt (3) aluminium  (4) gold
freh # g TG R

(1) dfar & forw (2) 7@ & fore

(3) waifEm & f (4) @ F e

Pygmies are inhabitants of

(1) Congo Basin (2) Australian Plain

(3) Polar Region (4) Kalahari Desert

AL -
mmaﬁxﬁs (zyami.%ﬂns‘ﬂ?:ﬁ:

T
@) w1 () e
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The concept of crop combination region is given by

(1) J. C. Weaver (2) L. D. Stamp (3) D. Whittlesey (4) J. E. Spencer
TH-FASE You A EyRon &

(1) o o et 3 (2) To FHo WY 3

(3) Ho g 3 (4) Yo Fo W= 3

Von Thunen’s theory is mainly criticised on the ground that
(1) it has not taken into account the technological development
{2) concept of economic rent was €rroneous

(3) concentric zonation pattern is not found around the cities

(4) locational rent does not remain uniform
W“qﬁéﬂﬁwnﬁammmg@msammrmgg
(1) ¥ shh R w feaw 5@ R

(2) E T # smevon 3Rqd o

(8) TR F W i wHL v e T
(4) AT TR OF gy T waw

The word ‘isodapane’ is used in
(1) industrial location (2) demarcation of industria] region

(3) classification of climate
AT T Y B @ .
(1) srif wm § (Z)ﬁm%m’qﬁ:[ﬁ
(3) vy o & (4) SEE T gy
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93. Which one of the following is a footloose industry?

(1) Cement (2) Paper (3) Hosiery (4) Sugar
fi 4 @ F9-q1 R I 27
(1) Hiz (2) (3) wifd (4) =t
94. Which one of the following is the largest railway track?
(1) Trans-Canadian Railway (2) Trans-Siberian Railway
(3) Trans-Australian Railway (4) Oriental Railway
fr # @ AT g o e R
(1) Fra-Ffeaa temm | (2) TE-EAREA T
3) gra-sirfera Yemm (4) It e
95. Which of the following is not a member of SAARC ?
(1) India (2) Pakistan (3) Sri Lanka (4) Turkey
ﬁnﬁﬁﬁ?‘m&’wwqﬁ%?
(1) wrd (2) IfRET™ (3) e 4) T

Urban Agglomeration of the World as per 2011 data is

06. The biggest

(1) Tokyo (2) Delhi (3) Mumbai (4) New York
f‘asamaaﬁa@mrﬂawﬂ& 2011 ¥ WfH H AR B
(1) o @) =& (3) TR (4) A
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Which of the following Lakes is not considered in five great lakes?

(1) Superior (2) Michigan (3) Huran (4) Winnipeg
= 2 F- e ofe mew e wfver o 2

(1) g (2) i (@) T (4) fafam

Which of the following is not an approach to regional planning?
(1) River basin approach

2) Metropolitén approach

(3) Town and country planning approach

(4) Industrial development approach

ﬁwﬁ#ﬂw—mﬁﬁaﬁﬁmmmﬂﬁ%?
(1) 7§ afm 3um (2) FETT Iy
R CE) o p— (4) M g 3o

Which geographical region is famous for farming of citrus fruitg?

(1) Equatorial region (2) Mediterranean region

{3) Western European region (4) Desert region

ﬁmﬁﬁﬁ?-mmm@%w.wﬁ@?ﬁ%mgﬁ@g;
(1) fayadia & (2) eI dy
(@) vRem g & @) TN Gy
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100. Which of the following scholars gave the concept of Human Development?

(1) Dr. Mahboob-ul-Haq (2) Dr. Manmohan Singh
(3) Prof. Moonis Raza (4) Prof. A. K. Dutt

e § & forg fige ¥ AWa faem & sEuRem &7

(1) o TETI-A-T ) T e fhe

(3) Mo HA® W (4) Mo To Fo T

101. The Himalayas were formed due to

(1) Faulting of the Earth’s crust

(2) Accumulation of loess deposits
(3) Folding of the geosynscline, named Tethys

(4) Folding of the earth crust
%mmﬁﬁﬂﬁmmﬁgm?
(1) qEdd # SR S () dreg fge % FoE 2
(3)ﬁ%a{aﬁﬁﬁw%m (4]%{9@%%%%

102. Most of the coal deposits of India are associated with

(1) Gon dwana deposits (2) Tertiary deposits

(4) vindhyan deposits

mﬂwmﬁﬁuﬁﬁﬁﬂi
(1)%§ (4]Wﬁﬁq@
(3)
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1“‘

107l
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Hot springs are found in
(1) Rajgir (2) Jabalpur (3) Bhainsalotan (4) Mussoorie
™ SE H WA o R |

(1) Temfe § (2) Faeg & (3) demier & (4) Hgd &

The highest peak of Satpura is

(1) Amarkantak (2) Maikal (3) Dhupgarh (4) Bandhavgarh
HAYE $ gatw =1 2
(1) s .(2) A (3) g (4) siwETe

The alluvial tract between two rivers is called

(1) Doab (2) Maidan (3) Taal (4) Diara
Qe A F e o g
(1) @ 2) e (3) w 4) R

The Eastern Ghats and the Western Ghats meet gt
(1) Palni hills {2) Nilgiri hills  (3) Anaimudi (4) Ooty

T wR R ofeht o e 2

(1) vt gareht (2) Halilt g 3§

(3) g 3 (4) 5 4

The largest river of Peninsular India is

(1) Godavari (2) Krishng '(3] Kaveri (4) Mahanag;
33
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108.

109.

110.

111.

(180)

wrogie wRa ) ge @ TG R
(1) et (2) Fom (3) Fd (4) TEEA

Which river is known as ‘Tsang-Po’ in Tibet?

(1) Sutle) (2) Indus
(3) Brahmaputra (4) Kosi
5 8 = fossa # ‘gtdl’ ¥ AW ¥ 0 @ R?
(1) G (2) Ty (3) WA (4) =

Which river is known as cultural divide of India?

(1) Indus (2) Ganga (3) Narmada (4) Godavari
fg 7 H WG A qrgfes faves wed 7

(1) R () T (3) T (4) TieEd
The term ‘Regur’ refers to

(1) laterite soil (2) black cotton soil

(3) red soil (4) alluvial soil

TR R & A ?

(1) e T ) weh wE B (3) T B (4) s FiE

g 1o 2011 Census, which of the Indian ‘States has highest population

Accordin
density?
Bihar (2) Uttar Pradesh
1
(1) i (4) Madhya Pradesh
(3) Punja
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112. According to 2011 Census, the total number of towns in India is
2011ﬁmmaaganmmﬁmﬁﬂgm#w%
(1) 5161 (2) 7035 (3) 7935 (4) 8015

113. In how many categories, Indian Census has classified Indian towns?

wmmmﬁm%wﬁ?ﬂwmﬁﬁﬁmﬂ%vﬁﬁafa%?
(1) 4 (2) 6 (3) 10 @) 15

114. Which of the following cities is located on the bank of river Ganga?

(1) Rishikesh (2) Delhi (3) Lucknow (%) Jaunpur

ﬁmﬁam-mmww%ﬁﬂﬁw%?

(1) ey (2) g 3) TEF () g
115. Bokaro Stee] City is located 1n

(1) Bihar (2} Jharkhang

(3) Madhya Pradesh - 4) Chhatisgarh

T e e g 2 |

(1) fogr & (2) #vGEs F @ mERTF s

(180) 35
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116. The first university in India to start teaching of Population Geography is

(1) Delhi University (2) Patna University
(3) Aligarh Muslim University (4) Punjab University
e o e AR e e % FeATR ) YEIE g

(1) Rt freafyaea 4 (2) e Feafrere 4
(3) ¥ e fawafmmem A (@) vore fvafme 3

117. Which of the following is tﬁe 1argest linguistic group of India?
(1) Sino-Tibetan (2) Sino-Aryan (3) Austric (4) Dravidian
B # @ 31 VA e w1 g ww ¥
) fe-feam (@) Rel-oR (3) S (4) sfafEm

118. Which of the following is the main reason for female migration in India?

(1) Education (2) Employment (3) Business (4) Marriage
ﬁwﬁéw-mmﬁ@mwww%?
(1) fen (2) TSR (3) MR (4) forme

119. Which of the following facts is incorrect in the case of India?

(1) India accounts for about 2:45% of the world’s land area

(2) India accounts for 4% of the world’s water resources

(3) India accounts for 16% of the world’s population

(4) India has the highest population density in the world
36
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e & @ S9-w1 3w e ¥ T & e 27

(1) YRa & 9 fova F Fa I w1 2:45% 2

(2) W & T fIva F T @ wwER W 4% 2

(3) wra § fowa & F 0 F 16% P w2

_\43%%&3%@%%3@@%

Which of the foHowing is non-renewable sources of energy?

(1} Hydel (2) Thermal (3) Solar (4) Wind power
fedd s sat = AT g 27

(1) Safagg 2) o - (3) &k (4) v WIRG

Regional Plannin_g -rclat.es to

(1) development of different sectors of economy
(2) area specific development |

(3) transportation development

(4) rural area development

#fl faie qefig 2

(1) srisraeen % fafm &5 w1 Rem 3

(2) &7 fY & fRem

(3) vhEE ¥ f=wm @

(@) o 2 ¥ few 2
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122. Which of the following is the longest National Highway of India?
fe § & #9-91 wRa w1 g o TP ToEn @7
(1) NH 1 (2) NH 2 (3) NH 7 (4) NH 8

123. Which of the following is not a plantation crop?

(1) Coffee (2) Sugarcane (3) Rubber (4) Wheat
i § & FN-w aoE a1 e
(1) =R (2) T (3) W () T

124. Which of the following is not correctly matched?

(1) India—New Delhi (2) Bangladesh—Dhaka

(3) Pakistan—Islamabad (4) Japan—Kyoto
= & @ W w R T ¥

(1) wRa—¢ fegl (2) STARYI—CTH
(3) TRAH—eTae (4) ST

125. Which of the following is not correctly matched?

(1) Md. ghafi—Agricultural Geography

2) G. S. Gosal—Population Geography

(3) R. L. Singh-——Urban Geography

“) R. P Misra""PhYSical Geography
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= 4 4 B9 ud gafem T8 27

(1) Fo TH—FRN sirer (2) Sflo THo TEE—SHEE P
(3) Mo Tedo fp—mty wire (4) Ao Ho fig—vitfew i
 126. A well-known Indian geographer died on 31st December, 2015. His name is
(1) L. S. Bhat (2) K. V. Sundaram
(3} P. Dayal (4) E. Ahmad
T gty wRd spiedr w1 A 31 feww, 2015 # g IFH W 2
(1) Wo Tho Wg  (2) Fo fo gw  (3) o TaTet (4) $o Ew

127. The ‘Bhwh’ climate of Koeppen is found in which of the following?

(1) Great Himalayan Region (2) Thar Desert
(3) Chhota Nagpur Region (4) Coastal Plain
Pt & & el A A Bhwh' Jemg o ah 39
(1) 983 fewer & (2) M tiram
(3) BlEAMgT &3 (4) T Agw

128. Which of the following sets of Macro and Meso regions were

. delj
Town and Country Flanning Organisation of Indiao neated by the

(1) 13 Macro. regions and 32 Meso regions
(2) 15 Macro regions and 6] Meso regions
(38} 7 Macro regions anda 42 Meso regiang

(4) 13 Macro regions and 35 Mego regions

(180) 39
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W@F&mﬁnw‘ﬁhﬁmaﬁméﬁm%mﬁmﬁfﬁaﬁﬁ@ﬁq—ﬁm@
qem & % aqE @ g R R

(1) 13 geg &3 3 32 wean & (2) 15 ge¢ &7 3l 61 HeH &

(3) 7 Jee &% 3 42 wewW & (4) ‘13 geg &9 3R 35 W &

129. Which of the following is a major immigrating State of India?
(1) Rajasthan (2) Uttar Pradesh

(3) Bihar (4) Maharashtra

mﬁﬁq&wﬁaﬂﬁﬁ%ﬂmﬁmﬁaﬁmmm%?

(1) TSEIH (2) IR T (3) faen (4) HEWTE

130. The statement « Who rules the world island commands the world” is associated
with
(1) Heartland Theory

(2) Rimland Theory

(3) Stages of Economic Growth Model

(4) Growth Pole Theory
W“@mem%aﬁﬁwmﬁﬁwm%”m?
o) forte fagr @
)ﬁﬁmﬁumﬁ (4) e T WG R
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Given below are two statements. One labelled as Assertion (A) and other labelled
as Reason (R). Select your answer from the codes given below :

{A) Most of the rivers in Africa are not navigable. |

(R) Rivers are non perennial and have shallow channels.
(1) Both (A) and (R) are true ahg (R) is the correct explanation of (A)
(2) Both (A) and (R} are true but (R) is not true explanation of (&)
(3} (A) is true (R) is false
(4) (A) is false (R) is true
ﬁa’rmmﬂqmwaﬁwmmz@iﬁmfm%mﬁﬁmwéx
AR GRS

(A) b i siftrmi Afat e 74 &

(R) 0T Fewrafecht =i & won s swerm foveren 2
(1] (A) 3 R) B = 3 aiky (R), (A) # 7 =mE 2
mlmsmﬁqﬁﬁua%éﬁqmnmmﬁaﬁamﬁ#ﬁ%
(3) (A) 7t & 3Rk (R) Tremer @
(4) (A) Te@ § SR (R) W@ 2

as Reason (R). Select your answer from the codes, given below
{A) Narmada flows westward.

(R) Narmada has few tributaries.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A
(2) Both (A) and (R) are true but /
(3) (A) is true (R) is fa]se
(4) (A) is false (R) is true

TR) is not true explanation of (A)

41
P.T.0,)



16P/207/8

133.

(180)

A & woA R M ¥ T W FE (A) W j

ﬁmmﬁﬁkgmﬁﬁ)E@ﬁWWWWﬁmw%
(A) e qfRem foam Y o F&A R
R) Tz 1 it wEE el 8

(1) (A) 3k (R) g1 @& ? 3 (R), ) F T e

2) () 3R (R) o T ¥ AR (R), (A) F T e a2

(3) (A) W& ? 3R (R) TeM 2

(4) (A) TR ® o (R) WA R

Given below are two statements. One labelled as Assertion (A) and other labelled
as Reason (R). Select your answer from the codes given below :
ted around the Pacific

(A) Majority of the active volcanoes are situa
Ocean.
(R) Pacific Ocean is the largest ocean.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not true explanation of (A}
(3) (A) is true (R) is false '

(4) (A) is false (R) 1s true

tR)WWwﬁasrmma
mmm®ﬁﬁ%ﬁmmﬁﬁww%
M (R aﬁ,aﬁ%@rm(m,maﬁmﬁmqﬁ%

(2) (A)
o) kﬁs(ﬁﬁ 3 o (R) T B
a) (A TR 3 i R) T
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